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QUESTION 1

A physical Windows 2008 R2 Server is converted to a virtual machine using VMware vCenter Converter. 

Upon completion of the conversion and subsequent power on operation, the virtual machine fails to boot 

and the message below is observed in the Console of the virtual machine: 

STOP 0x0000007B INACCESSIBLE_BOOT_DEVICE 

Which two potential issues may be causing this boot failure? (Choose two.) 

A. An incorrect SCSI controller was selected during conversion. 

B. Incompatible software drivers were migrated into the virtual machine from the source machine. 

C. The vmdk file backing the virtual machine was thick provisioned. 

D. A snapshot was taken immediately after the conversion completed. 

Correct Answer: AB 

 

QUESTION 2

Which vSphere 6.x feature will allow an organization to utilize native snapshots? 

A. Virtual Volumes 

B. Virtual SAN 

C. VMFS3 

D. VMFS5 

Correct Answer: A 

 

QUESTION 3

What three types of widgets can be added to a vRealize Log Insight Custom Dashboard? (Choose three.) 

A. badge widget 

B. event trends widget 

C. query list widget 

D. heatmap widget 

E. chart widget 

Correct Answer: BCE 
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https://docs.vmware.com/en/vRealize-Log-Insight/4.3/com.vmware.log-
insight.user.doc/GUIDACF41E9A4DC4-4071-AE45-FA296525D64C.html 

 

QUESTION 4

An administrator must determine an appropriate backup solution, given these conditions: 

- 50 of the virtual machines are in a resource pool named Finance. 

-

50 of the virtual machines are in a resource pool named Q 

A. 

Which solution allows an administrator the ability to backup 100 virtual machines? 

B. 

Use Snapshot Manager on the vCenter Server to backup the virtual machines. 

C. 

Use the VMware Consolidated Backup (vcb) tool on the ESXi Host to backup the virtual machines. 

D. 

Use the VMware Data Recovery (VDR) Appliance on the vCenter Server to backup the virtual machines. 

E. 

Use the VMware Data Protection (VDP) Appliance on one of the ESXi Hosts to backup the virtual machines. 

Correct Answer: D 

 

QUESTION 5

Which two actions are prerequisites to adding ESXi 6.x hosts to a vSphere Distributed Switch? (Choose two.) 

A. Verify that there is at least one Distributed Port Group on the Distributed Switch. 

B. Verify that the Distributed Port Group have active uplinks configured in its teaming and failover policy. 

C. Verify that the Distributed Switch has been configured with a Network Profile. 

D. Verify that Network I/O control for Management Traffic is configured for the highest share value. 

Correct Answer: AB 
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